[image: image5.png]


[image: image1.jpg]S PR ABCD®. WA, 2)s B(=2,0). AC=(2,=3). WADBERN
A (81 B (=6,-1) e (0.-0) D 0.3
6 RRELTAN 24 BRA, ROFROZ TR, ABRORERIHAR

X129, WARRANTNG 6 AR~ AT, M AABER AL

ssymARS
3o

¢ I e U S

Con (IR CHRT SN SR S R R o)
Pl TS T Y SR

Al B 2 3 D4

7. (-5 5 ) R Mcosx LA FO 13 2SR
~3 B o7 5

5 BB f(x) = 2e08> x—sin’ x+2, WERAH
A RAERMYR, AN B. RAERMAT. BAUKS
C. RAERMALT, RAGH3 D. RAERMA2T, RAERS

5. ®. 2. m=nRES, poRremRnAL. 1. 1 AzAmenTn

TLAEHEN, MENEAPESH—NRHURES
1 2 oL

= = R
” iz 7 7

A

J0. EAMBCH, DRBCHR, AB=1, AC=V7. WAD-BC =
3
a2 e b -3

11 il =3sindx mulmis‘s;‘—zfl&&sv BTSSR 8

y= /W EER. # fm)=a. MIG-m=
A -a B. -a-3 C. —a+3 D. -a-6
12. ERABC #, WEA AB =1, AC=2, DRABCH—A BLDAB=60".

I 20182019 $FEB=EMIKRGEL RPEFGHD. OLE % 2 K G 5 0



[image: image2.jpg]o AR

L S "
WD =AABeuAC (A: peR: MI=

s o3 b 2

Y] i
S s

Ao, AAEA A, WSS W 205
15, BmARm=(2,1); a=(x,2): Bmln WER=

16, Frana - wnfRHE - 2x-4= ORI, M e~ F)=.
15, EAKILET AR, FAA—SRERRENNS BT, MERATAHT

SRS, A
16 B8 f() =sin2x+ 2T 08’ x—+3. x(x]:nwﬂx-%}-lﬂ*! (m>0),

EMER -m.%]. Mx,.[u,{;. Eglx) = fxy) AT, MR m T

{ ! S
=, WL AAER M, K705 MERRHIFRS, ERIERRNSR.

1. GRABAS 105
amanmﬂnﬁl’(»%,z—fl- .
1) Runa it

Vasin(z —a)sin? +@)
I R—————2—mtt.
W cos-a)-sinle-+ )

18 CRABRS 125

EME /()= Asin(ax+9) (450, 0>0, [gler) Hi—BERMEFTR.

(1) REBIS () MR

) R/ B

M) Fxe[-2E,
O

D425 SEER=FMAX AR REREBRO. DR B 3 K K 5 )



[image: image3.jpg]19, CRAEIRS 125

AR MR & B ERRIN SRR AT RIE S MOR RS
. HOERT HEBRALRGIOWATMRIR, Kb S ROMBI T

am Wik | M2% | MIK | WaX [WSK
amx ¢ 0 [ 1 ) 12 3
RERY (R 2 | 26 [ 32 | 2% | 16
SRR, ONE S TR A ELRA I, SRR
Ae02 MR TRE.

(1) R T2 SRR TN 2RI
() BARBEN. 3. AROWE, Ry RTF A WQRBETES=brd:

) FE R RSS2 ARG RBN AT, W
B SRR, Wil (D RS BT TR

(AR RIEEENE =bx+d HRIHNAL
S0 Tan-nxy
G - ARSI - S

b= — - = G=y-bx, Kbz, yREMEHTHIO
)':_'(s-xr‘ E&'--»x

2. CEAERS 129
B8 A(1,0) ¢ M(1+cos2x,1)s N(2,3sin2c+2m) (x€R: meR):
B /()= AN .
1) REB f(x) BAFHFTE:

(DmRAxel ,% . ’?‘ VB, BB /() 5 8() =2 MERAHNLN, Rm
HRARE.

2. GEABRS 125)
EARE /()= - ax+b.
LN 20182019 SEXR=FHMEAGER RHLHGHO. ORE B 4 N K 3 T



[image: image4.jpg]et L o WM 100)
P e et TR e # BRI

(1) Wa,be(0,1,2,3), RBRKS(x) HEANKN:

) ®a,be(0,3] . RSN >IRIMMK.

2. FHERS 128
EFEARLERE, ONBIMA, SMAA(8,0). B(n, ). C(ksind, 1),

AEnk

(D E4B Lm, g[TsT-JEIE«T. mt[?il.

(I EERAC SR m 3,  RERK, REAKS(0) = tsind M.

(-1,2).




